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2 125,939 127,956 ~2,017
HH2H A (5T 56,414 57,618 A1,204
D2 (S 52,214 53,418 A1,204
o= 2| 52,214 53,418 A1,204
201 Lt 21,700 24,200 A2,500
01 AR 2l 21,700 24,200 A2,500
SHEES=1t] 11,000 13,500 A2,500
—HRH EHYEHTY A3 3,500,000 3,500 4,000 A500
—=ABNTY A 1,500,000 1,500 2,000 A500
—2PTRIE Y3Y €4 FH 3,500,000 3,500 4,000 A500
—ZAIEY 2 1,000,000 1,000 1,500 A500
—JIEt= 2| A 1,500,000 1,500 2,000 A500
202 01t 27,216 25,920 1,296
01 =UoIbI 27,216 25,920 1,296
OJl=2Yy R4 80| A 27,216,000 27,216 25,920 1,296
HREsS (521 105,876 0 105,876
S 105,876 0 105,876
SHEXE 105,876 0 105,876
802 Bt 2| El 105,876 0 105,876
0 RnRxIoEz 26,275 0 26,275
OxAUNANEH 294,000 294 0 294
OFBAHCHEBUSS 918,000 918 0 918
=TI EYEE NP 3,770,000 3,770 0 3,770
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